WIND-RC Pilatus PC-21

-

Specifications

Wing span 107.5in/2730mm
MK 133.9in/3400mm
Fuselage length
B A .
Wing area 1847.45sp.in/119.19 sp.dm
B
Weight 27-30kg
5| 2
Engine K-100TP or STP10-RX
i 3000CC
Tank

www.wind-rc.com



Installation
steps of servo
support

1. 2. 3R IR de
E: TR BILE S
KB 3 T 22 2% 3 7 AR IR

1. 2. 3Damping rubber installation
Note: For engine vibration sources
Forlarger ones, install
shock-absorbing rubber



4 1
W2 22 Fk& . M2. 5x104 7S A
WA : 2. 6x7x0.5

4 As shown

Screw specification: M2.5x10

inner hexagon

Washer specifications: ¢ 2.6x7x0.5

5.6 A ‘

o B D L 6 o g 22
%% iR E
Ve BRI RS R
1) H S o B 22 A [ A
5.6 Asshown

output shaftPosition, and then
determineFirst confirm the
installation of the servo motor

the mounting bracketDirection.
Note:Apply a moderate amount

of medium-strength thread locking
agent on the threads



AT 22 32

Push rod installation



il 33 2
SIE- SR IS
Aileron servo installation

a0 1P 5 5 Sk TR B 22 A . M3x 1O /S M I 22 41 1
Frek R MR 22 A% . M2x101 77 B Bl 42

As shown in Figure 1, the black arrow refers to the screw specification:

M3x10 hexagon socket self-tapping screw The red arrow refers to the
screw specification: M2x10 Phillips self-tapping screw

b E JE L
/Standard Servo



R AL 2 3%

Flap servo installation

A P 3% 6655 Sk 95 R 22 BUAE . M3x 1O /N B BUR 2221 &
TSk FB MR 22 Mg . M2x 101 7 B B2 22

As shown in Figure 1, the black arrow refers to the screw specification

M3x10 hexagon socket self-tapping screw The red arrow refers to the '
screw specification: M2x10 Phillips self-tapping screw

e URBRE S, AT
L4 M, A L

Note: After the adjustment flaps are tightened, the stroke of the steering gear
should be properly retracted, and the flaps should be loosened appropriately
to avoid jamming the steering gear and damaging the steering gear.

TR A G AR L, IR R BRI — A

1 b VEE A AL

Standard Servo



K R AL 2% %

Horizontal stable surface steering gear installation

[ % REHL B MR 22 FE A% . M3X10mmt 7 B BB 22, K3 A F kAN,

The screw specification for fixing
the servo: M3X10mm Phillips
self-tapping screw, as shown by
the green arrow in Figure 3.

P HE FE L

Standard Servo



77 [ fe e Bl 22 2%
Rudder servo installation
a0 1P 5 5 Sk TR B 22 A . M3x 1O /S M I 22 41 1
Frek R MR 22 A% . M2x101 77 B Bl 42

As shown in Figure 1, the black arrow refers to the screw specification:

M3x10 hexagon socket self-tapping screw The red arrow refers to the
screw specification: M2x10 Phillips self-tapping screw

b VE e AL
/Standard Servo



LV AR T AL 22 4

Servo installation of landing gear door

FE AL A B R 22 B A%

M3X10+ % 5 T2 22 [H 52, tn &
B £ Sk

The steering gear uses screw

specifications: M3X10 Phillips
self-tapping screws are fixed,

as shown in the black arrow.

210 Sk I s 1) W8 22 A%
M3x 1O 7N M IR 22

The screw specification shown by

the red arrow: M3x10 hexagon socket
screw.



HIl 5 AL 5 X 5%

Front and rear fuselage docking

IR Sk, T BSR4 Ak . MAx25mmA N IR 22 . fF B3, OmmoN £ 12 22
TIMIR 47 E 8RR 22

As shown in the red arrow, 8 screws are required: M4x25mm hexagon socket
screws. Use a 3.0mm hex screwdriver to tighten 8 screws in sequence

< >
£ oS
¥



TR 5L 5 X £

Main wing and fuselage docking

O EHLE AL & &30x1380mmiik £F 4 &7 K 7 ML E X 8 20L& k.
@ﬁDIZEIZQIﬁu%FﬁT, W2 22 FH A M4X25mmlj\]/\ﬁﬂﬂl?%, St N [ M8 22 FL R FE ML B
WLE LG X 20 5 3. OS2z JIENL & B HE 41 7%, ﬁﬂ@]‘lﬁﬁmo

@ ESLLFE s, HLENL S X LB E, FEHLE K

Eﬁﬁ%ﬁ%, 2. 57N Mg 22 J14h N, R =10 147

(O The main wing uses ¢30x1380mm carbon fiber tubes to
connect the two wings to the fuselage. @ As shown by the
red arrow in Figure 2, the screw specification: M4x25mm
hexagon socket screw, the corresponding screw hole is on
the wing. After the wing fuselage is docked in place, use a
3.0 hex screwdriver to tighten it from the inside of the
fuselage, as shown in Figure 4. 3 As shown by the red circle
in Figure 3, after the wing fuselage is docked in place, there
is a hole on the lower surface of the fuselage. Insert it with a
2.5 hex screwdriver and tighten it with appropriate force.

7

10



KV 5 0L 5 X &

Docking the horizontal tail and the fuselage

QU EAFr s, KoK R B fL A2 6 DAL B Bk 2F 4E 8 5l N, IR x4 B A
@xt BN 5, EARTFE FTRIAWNL (Bhatiark) , H2. 55 MiR2
JIsEN, FHIE =AM 7 E R AT,

(D As shown in Figure 1, insert the hole on the horizontal tail corresponding to the
carbon fiber tube on the fuselage, and connectitin place.

(2 After docking, there are two holes on the lower surface of the horizontal tail (the

green arrow in the picture), insert it with a 2.5 hex screwdriver, and tighten it with
appropriate force.

11



AR 1Y
Exhaust nozzle cutting

12



HLAT

5 light
J -
@
@y ¥
10—
®
<@ \
O—>
A
1
= @

H White light: @ @  4.Redlight: @ %tGreen light: @ Lanj'?énﬁgﬁ%hts; ®

T W R TEE B A
Note: Some parallel lines need to be prepared by the customer

G) 2 48 7 2 7 I AT
L @ Main landing gear
@ landing lights

_® 13



I A KT
Formation lights

1

<
N

-/ transformer

AT Je HL B X 45 Ak

Front and rear fuselage junction

D> <@

14



I S\ T

Formation lights

2
AL U
Recgi\ver IN11 AV tra;trEIs}JfIi)?rier
> <«
SIS
pwm electronic switch
D AT 5 WL & 3 b
Frontand rear
@ fuselage junction

/

Q ®

T

transformer

15



)

U
. G.

i

[hul
[T

Ol

KL E D AE LB AR 2 BT A 2% 17 J5213. Smm.
For aircraft C.G., the leading edge of the wing root
installation plane is 213.5mm backward.

16



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17

